0000000 (0000000) Dec. 6, 2010 (Mon.)

(1] feC(e,p)0000000000000000000

(1) pla) =) =00000000 e C([e,b))0000

b
/ f(@)p(x) dz = 0

000000000 f(z)=0000000000
(2) pla) =) =00000000 pe CY([a,b))0000

b
/ f(2)¢!(2) dx = 0

D00000000f(r)=c0c0000000000000
000000 c0000000¢(z) = ["(fly —c)dy0ODOODODODO
ooo

(3) pla) =p(b) =¢'(a)=¢'(b)=00000000 p e C*[a,b))0000

b
/ f(2)e"(x) dz = 0

000000000 f(x)=cw+c O, 0000000000000
000000 ¢, 0000000¢(@) = [7([/(f(z) - (az+c))dz)dy
0000000000

gbobobouoogon

e OO ODLDODODLODODLDLODLODLODLOOLDODLODLODLOODLO
oboboboobooboobooboob

e O UOO0OOLODLODOUODLUOOUDLDLDODUUOULDDLDOOOOO
e 0O UOOODLDOUOOODLOUODLDDLDOUOOOODLDLDDbODOUOOOODLDO

e U UOOODLDLDOUOOODLDDOODO

goboboooon
e OO ODLODLDDOUOOODLDLDDOUOOOODOLDDUOODLDDD

e U OOODLDLDDLDUOODLDLDOUOOODLDODO



